&EAE S E A A
20008 E =& 2 3| WSA
& 200 M2l+¢
2 220 AR
g 222 A= Ciol ®MS)
O &K IEH Blus
43,385,093 26,749,479 16,635,614
200 A2l 42,651,893 26,016,279 16,635,614
220 SAHAIL4=L 33,156,009 16,520,395 16,635,614
222 0= 16,628,000 0 16,628,000
222-01 =HAHIL OIS 16,628,000 0 16,628,000
< us2eld > 16,628,000 0 16,628,000
O=HMAL 0= 16,628,000,000& 16,628,000 0 16,628,000
223 0183 7,614 0 7,614
223-01 RNEXSA 2,139 0 2,139
<USHLHH > 2,139 0 2,139
OusSAD #2 = 2,139,000 2,139 0 2,139
223-02 Al - CHIZZSAE SN 5,475 0 5,475
< NEIFEHH > 5,475 0 5,475
OusSAtLD &2 =2 HEALE 1,070,000 1,070 0 1,070
O o2&t =201 A& 1,453,000 1,453 0 1,453
OussdNs 2SHLAL 2,952,000 2,952 0 2,952
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A & 0o & A G dl M
20008 E £ 2 3 JIEISHEH DS ~ REV2D
SN DEBRD
B BAYD 0N NEEY X4
CHol: Bl 2ETA Z&(RSAY) CEERED
SN BB SA(S) - MBAY - BES 04l &b ot plE-E HlRE2
nsen 33, 154,944 17,284,975 15,869,969
DMYUD OFE DNEHY X4 33, 154,944 17,284,975 15,869,969
Holst SEN T&(DSAY) 145,265 148,575 £3,310
SN 25 111,565 114,875 £3,310
201 Y2 87,133 87,899 A 766
01 AtR22lt] 41,774 39,830 1,944
OEATIBICS BE L AR St 5,700 4,620 1,080
-ms 3,6002 *600S 2,160 1,080 1,080
OAIHA set=0) 02 22| 864 0 864
—QUBHHA 1,0002! #4838 23] 768 0 768
—DStA 8002130522 23] % 0 %
02 BZ2H| 45,359 48,069 £2,710
O2u23 24,395 27,105 ~2,710
~S0] 1,75024+8,50021 14,875 17,500 £2,625
—ouet 25021+35,66021 8.915 9,000 £85
01 YAz 7,632 10,176 £2,544
09 B2LRATAZ 7,632 10,176 ~2,544
OZA22ed 22 2 4% 7,632 0,176 ~2,544
—20 72,0002 *32i* 122 2,502 3,456 ~864
— S| 5,000 +3%x202 * 128 3.600 4,800 A1,200
—DEY| 2,000 +3% %202+ 12 1,440 1,920 2480
Helst DEHA 2Y(DSMY) 20,861,036 4,589,517 16,271,519
IS 12,104,663 3,079,059 9,025,604
801 OflHI bl 12,104,663 3,079,059 9,025,604
ST 12,104,663 3,079,059 9,025,604
ool 2,104,663, 0002 2,104,663 3,079,059 9,025,604
DS TYHDX X 7,377,315 1,000,000 6,377,315
401 A&HILLHE] 7,377,315 1,000,000 6,377,315
01 Al 7,377,315 1,000,000 6,377,315
ODYS JYHDX X L JYZ H&
7,377,315,0002 7,377,315 1,000,000 6,377,315
HESXDN 55 868,600 0 868,600
401 A&HILLHY] 868,600 0 868,600
01 Al 868,600 0 868,600
OHZSIYXDX 22S L ZH|D 55
868,600, 00021141 868,600 0 868,600
TYFAN2Y JUA(DSAY) 11,183,468 11,318,819 A135,351
TYFNY A 11,183,468 11,318,819 A135,351
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HE: INUD OFE DESY TN
ool TYEXHLSY TOXR(DEMY) (=ER-E)
SH - B SA(SIH) - MBAY - BAS Ol & o4 J1E o HRE2
307 gI2told 11,183,468 11,318,819 A 135,351
05 QIZtRIEZ 11,183,468 11,318,819 A 135,351
OAET2IRE XA/
11,183,468,0002 11,183,468 1,318,819 A135,351
SIS A2 (NSAMY) 508,535 506,200 2,335
SE=IE Rl 508,100 503,600 4,500
203 PRF=&H] 4,500 0 4,500
03 AIZEZIREY] 4,500 0 4,500
OFXANESERFA 4,500,000& 4,500 0 4,500
Doi22Qw PA 435 2,600 A2, 165
01 YPEAD 435 2,600 £2,165
CECEECEERE 435 2,600 £2,165
OSUAZRRALLEFZ 435,000& 435 2,600 A2,165
FUE HE(WSAMY) 15,900 281,124 AN265,224
LAIF=IHE Exi2el 0 30,324 A 30,324
401 Al&BIZ R0 0 30,324 230,324
01 AlZH| 0 30,000 30,000
OYANEXE &3 L |XZ2 S(R0I7)
02 0 30,000 30,000
03 A& S0HHI 0 324 A324
OYAEXE &% o RAZe S(R0I7)
02 0 304 A4
LHEer =Xy SXIXe 5,700 50,000 A44,300
402 PIAT=0IF 5,700 50,000 A44,300
01 BAR=LE 5,700 50,000 A44,300
OUROIERT MXIBE(AAT)
5,700,000 14! 5,700 50,000 A44.,300
LAIF=TE X 22 0 10,000 210,000
401 AEHIZ 20 0 10,000 210,000
01 AlZH| 0 10,000 210,000
OYNETE HX L SB2I(AAT) 02 0 10,000 210,000
SAF=XE &X] 22 0 10,000 A 10,000
401 AlZHIZ20HYI 0 10,000 A 10,000
01 Al&tl 0 10,000 210,000
OYNEXE &3 U RXZ2 S(2B7)
02 0 10,000 210,000
HEHERE SR 10,200 40,000 29,800
402 PIAT=0IF 10,200 40,000 29,800
01 gt 10,200 40,000 A29,800
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A & 0l &8 AHESE 8 M A
S FE 23 JIEtSEH A2 ~ SAlO/20
S AID| 23t
D EcE nssd &4
D FXES HE (LS AY) (&2 & &)
SA - HR - SR(3) - MRAY - BES 0l &t pJE-F HimE=+1
Ol 2,018,419 1,723,008 295,411
clet nssd =4 1,746,283 1,500,625 245,658
FXHEs N (REAY) 1,746,283 1,500,625 245,658
=X NS 593,614 270,470 323,144
201 LEr23H| 410,664 202,690 207,974
01 AtR2eltl 159,324 80,600 78,724
Ott=3 E20HAHl 7,0008 442142+ 123 51,744 34,650 17,094
O=Xtelet AEIH HMZE 602 *140,0000H 8,400 6,000 2,400
OFXRE AMSKIA HZE 70,0003 #2602 A 18,200 12,600 5,600
OHEZ SRR = 65,960 21,250 44,710
—2R=F (&0 FS) 250,000 x68% 22 34,000 12,500 21,500
—get=s 250,000 x68H 17,000 6,250 10,750
—223t 100,000 68 6,800 2,500 4,300
—getst 100,000 682 6,800 0 6,800
2% 20,0002 »68& 1,360 0 1,360
O£ SaXst 4,100,000 4,100 2,500 1,600
OFEXAe F2MA 75 2208 JHEY|
7,320,000& * 14! 7,320 0 7,320
02 324l 248,340 122,090 126,250
OHEXE MASL= 20,760 8,150 12,610
—28= 17,425 5,900 11,525
=Py 7,425,000 7,425 3,900 3,525
St=S Xt 1,000,000 ~8CH 8,000 0 8,000
— NS A 3,335 2,250 1,085
EnS=DN; 1,735,000& 1,735 650 1,085
OHEXE || 135,500 52,500 83,000
— 24l 103,500, 000& 103,500 45,000 58,500
=cldl 1,000, 000& *32CH 32,000 7,500 24,500
O SAAH SX 24| 8,400 4,200 4,200
— =TV 2,100,000 *4CH 8,400 4,200 4,200
OE=ZH| «=2IdI(3tnlet,PoA, RA )
100, 000& #37CH 3,700 1,500 2,200
OH&E POASHZ 10,000 +29CH+12& 3,480 2,040 1,440
ORERS 250 *300, 0000H 75,000 53,700 21,300
OHEXE IHEEF R3] 1,500,000 1,500 0 1,500
03 HAt2EH] 3,000 0 3,000
OEAHNEES =5 SX=
500,000& 62 3,000 0 3,000
202 o4l 96,980 35,880 61,100
01 =UWxHI 96,980 35,880 61,100




A SADI2

i melst NS £4
Chel: FXE23 HE (LSAHY) (el &)
SN B S(SA) - HRAY - BES 0] &k o8 plE-T" HmE=ET

OFXt2Igt XIEE= o]

((10,0002 %23 * 132 +22 )+( 10,0002 65 *1 9,980 35,880 61,100
42+102))
WEL 20,000 10,000 10,000
WET] 20,000 10,000 10,000
O==0l FHISXIHHE AX|
50,0002 +4007H 20,000 10,000 10,000
XHarE S| 44,070 0 44,070
Tt S S| 44,070 0 44,070
Oy M7 10,000, 0002 *4CH 40,000 0 40,000
OBISIAILY CCTV & 4,070,000 4,070 0 4,070
IR KT o 44,971 98,240 153,269
201 Y2y 19,891 56,400 36,509
01 AtRelt 15,354 25,780 A 10,426
Otrz@l S2 1Al 1,025,0002 1,025 5,880 14,855
OFXFRIBE AEIH (BEHESDOHHM) M=
02 0 600 600
OZXSIP BEHBED AHEXA HE 02 0 2,800 2,800
OZetmellH EH 2 1,028,5002 1,029 2,600 A1,571
Otz 24 X2l 02 0 600 600
zz29t| 4,537 27,620 123,083
OH&x KA 1,663 11,000 19,337
—oi 2| 1,257,7902 1,058 7,500 16,242
— 22l 404, 7002} 405 3,500 13,095
O MAB2 1,943 4,380 N2,437
—282 1,192, 79024 1,193 3,000 A 1,807
— XS XA 749, 1802 750 1,380 630
O3 837,6602! 838 10,000 19,162
OS2l Z=2ltl (3t PDA) 02 0 800 800
OH=8 PIASAE 92,1602 %3 1,440 A1,347
A2 S| 0 3,000 3,000
OFAEMBES 23HA AXE 02 0 3,000 3,000
o1t 5,080 21,840 16,760
SIVCTE 5,080 21,840 A 16,760
OFX28 XTS= 01| 5,080,000} 5,080 21,840 16,760
=PUDNE=E 29,963 90,755 160,792
Usr2 oyl 25,433 73,505 A48, 162
JNESTEIN 23,254 38,610 A 15,356
OH=22X S204AlH| 2,004,000 2,004 10,080 18,076
OZTRIE S| 0 3,030 ~3,030
—2y3 7 02 0 1,000 A 1,000




SH: SAIDD
M oS DEEY X4
Er9l: FX2E R (LSAR) (o)
SA - HY . SA(B) - MPAY - BES Ofl st pIEEl SlimE=1
—Z=E 2y 0! 0 630 2630
~D&TeE EY ¥ S8 7Y 0! 0 1,400 A1,400
OFRRIEr AEIH M= 0! 0 1,800 A1,800
OFXeIe HYMMSEA HME 1,849,300 1,850 2,800 A 950
Oc=g AR 2] 0! 0 1,000 A1,000
ogast Y 02! 0 500 A500
2 B2 2,179 34,985 32,806
oLuea 752, 3502 753 12,500 AN,747
OS=xg A2 1,327 3,500 ~2,173
E 781,7402! 782 2,500 A1,718
— XHE XA 54,9102 545 1,000 A455
O£ PA S0 98,5302 99 1,200 A1,101
Os=xg Sl 0 13,100 A13,100
EL] 02! 0 9,600 £9,600
— 42l 02! 0 3,500 3,500
O] +-2/bl (302, POA) 02! 0 1,400 A1,400
OFHHZAAY XS4 02! 0 3,285 3,285
202 01t 4,530 17,160 A12,630
T 4,530 17,160 A 12,630
OZXteIe XSE oft| 4,530, 0002 4,530 17,160 A12,630
LEHE AL 25,753 182,060 A 156,307
201 Lerey| 25,433 177,560 A152,127
01 AtR22IH| 356 23,260 £22,904
OBENIZDNA M= L DUAN B2 0 22,260 £22,260
—DE 0! 14,700 A14,700
e 08! 7,560 A7,560
OMBIE +¢ 248 355, 930! 356 1,000 £ 644
2 B2 25,077 154,300 A120,223
OBEHE WY+ 2R3 11,877 39,500 A127,623
=2 5,750,002 5,750 63,000 57,250
—got 6.126,3102 6,127 76,500 AT0,373
OBBHEHI (28|, TRIE) 2/ 02! 0 1,600 A1,600
303 TAZ 0 3,000 £3,000
EXE 0 3,000 3,000
OBEE MY I+E43 0! 0 3,000 £3,000
802 e+2t 20|} 320 1,500 A1,180
03 BRHIS 320 1,500 A1,180
OZIMVHE Heg &= 320, 000! 320 1,500 A1,180
LEHE 2L 3,792 154,000 A118,208
201 ey 35,202 150,000 A114,798




. Gl(31H) - NSAY - ByS p[E-L HIRE2
YR 12,979 24,200 A11,221
ODXNM M= & 9 2= 12,348 21,700 29,352
—DEHE DXA M 12,348,008 12,348 14,700 12,352
—SEINAN 2IFeE 0 0 7,000 A7,000
OMY BB T4 ABIIE +48
130,710 131 2,000 A1,869
zz29H| 22,223 125,800 A103,577
OB 9,023 111,000 A101,977
— e 5,200,008 5,200 48,000 142,800
—S| 3,822,0208 3,823 63,000 N9, 177
OBENE HUI(Z8DI, ZRIEDI) $2l8l 02 0 1,600 21,600
ZaZ 0 3,000 A3,000
EIAE 0 3,000 A3,000
OZ=ZAISIS DEHE H4 TS 0 0 3,000 3,000
BHE 20| El 590 1,000 A410
roe=aS 590 1,000 A410
OZRSIE BEHE B S22 569,2609 590 1,000 A410
2 =2nns 1,016,190 705,100 311,000
U2 | 1,005,600 696,100 309,500
NEEEIRT 177,300 99,500 77,800
ODXNMME & ofFes 130,200 78,400 51,800
—DXIAHE 70,0002 x2Z+3702 A 51,800 22,400 29,400
—SE XA AFLE  702%280,00024 *43] 78,400 56,000 22,400
O=E M= 502! #40, 000% 2,000 1,000 1,000
ONEIIE 248 400,000,0002! %2/ 100 8,000 5,000 3,000
OSHFIA QB MRIAALY DS
22,000,0008! 14} 22,000 0 22,000
zZz294| 828,300 596,600 231,700
OFHI+2| 2,400 1,200 1,200
=] 150, 0002 *4CH 43| 2,400 1,200 1,200
o2we3 808,500 578,000 230,500
—S0123 504,000 378,000 126,000
S8 0x 1,750%!x24,0000H 1284 504,000 378,000 126,000
—pten 304,500 200,000 104,500
£80x 25021%101,50024* 122 304,500 200,000 104,500
BIE 20| 5,500 4,000 1,590
reaS 5,590 4,000 1,590
OBET FHMUSLVEHE UL 823
5,590, 0002 5,500 4,000 1,500
BH A (SAIDI2D) 272,136 222,383 49,753
ol HH (REAY) 78,778 74,603 4,175
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S AID| 23t
AY2IZHI(Z A2
QlHA2HEH (NSAHY)

SN BB SA(S) - MBAY - BES 04l &b ot plE-E HlRE2
jelieala] 75,824 50,846 24,978
101 Q12| 75,824 50,846 24,978
09 RIHA2ZXE = 75,824 50,846 24,978
OFXEHER el 69,055 46,457 22,598
—Jlzs 42,625,000 42,625 28,575 14,050
—&0i= 15,007 ,000& 15,007 9,525 5,482
—HeIsSAt==E 2,420,000& 2,420 1,200 1,220
—2&0ht3 6,799,000 6,799 5,729 1,070
RPN =Eal S 2,204,000 2,204 1,428 776
O=Fitsd 288 6,769 4,389 2,380
—&HEE 718,000& 718 465 253
—1E2E 933,000 933 604 329
—=0l= 3,229,000 3,229 2,091 1,138
—AL2E 1,823,000 1,823 1,181 642
—LoEIIRYEE 66,000 66 48 18
jlieala] 2,954 23,757 20,803
101 Q1Adl 2,954 23,757 A20,803
09 RIIHA2ZAE = 2,954 23,757 220,803
OFXHEBXZA 012 Y 2,686 21,704 19,018
—Jlzs 2,381,200 2,382 14,288 211,906
—&0i= o 0 4,767 N4 767
—HASA==E 100,000& 100 600 A500
—2&0Ht3 203,820 204 1,273 1,089
SRR 02! 0 776 ATT6
OFXHEEXR B8 = 268 2,053 21,785
—&HEE 0 0 218 2218
—1ESE 0= 0 283 A283
—=0d= 167,400 168 977 AB809
—AL2E 94,180& 95 552 N457
—LoEIIRYEE 4,500&4 5 23 A18
[2ZH(nSAY) 193,358 147,780 45,578
Upr2 | 67,331 63,831 3,500
201 LEr23H| 67,331 63,831 3,500
02 S22l 3,500 0 3,500
OAMS4 018 EH| 3,500 0 3,500
— A4 &8I 01&Hl 2,500,000& 2,500 0 2,500
—d eI ol™ &XIHI 1,000,000& 1,000 0 1,000
THER SH| 42,078 0 42,078
401 Al&HIZL R0 21,450 0 21,450
01 Al&dl 21,450 0 21,450




M SAIDI2
A HY2HHH|(SAIOI2DH
Eel: Jl=23(SAY)
SN B ERI(B) - MSAY - BeS 0l &t
OALR4 IHI2ZIN SAL 21,450,000& 21,450 0
405 RHAHESHI 20,628 0
01 L EEFH S 20,628 0
OItElE ¢ 10,888, 000& 10,888 0
Ogst2H g 6,800,000 6,800 0
OoZadl 7 780,000 *2CH 1,560 0
OflaaEsE ot 7 138, 0002 104 1,380 0




A & 0o & AFE E Md A

2000 E % 2 3 JIEISEE N DSHBME ~ DEFBHE
A DEFSHE
HH: 52X DEHH 2=
ool Helst DEMH TE(REAY) CEERED
SA B O(SH) - MBAY - BAS O &t 04 e HRZ
WSZLHH 8,211,730 7,741,496 470,234
2 683,200 683,200 0
= 50,000 50,000 0
Al 7,478,530 7,008,29% 470,234
5SX0 DEMH 75 8,174,612 7,692,856 481,756
2 683,200 683,200 0
= 50,000 50,000 0
Al 7,441,412 6,959,656 481,756
Hels DEHA PH(DLSMY) 2,185,300 2,125,300 60,000
= 583,200 583,200 0
Al 1,602,100 1,542,100 60,000
HABAIAY A3 2,185,300 2,125,300 60,000
2 583,200 583,200 0
Al 1,602,100 1,542,100 60,000
401 AZHIL 2O 2,185,300 2,125,300 60,000
2 583,200 583,200 0
Al 1,602,100 1,542,100 60,000
T 2,041,300 1,981,300 60,000
OXIIL(ITS,BIS)S BES LURE SLAIA
BOIXZ) 25 60,000,002 60,000 0 60,000
02 Zeldl 134,800 137,001 A2,201
£ BAHATBAAY S|
34,800, 00020 % 14! 134,800 137,001 £2,201
2 40,440 41,100 7660
Al 94,360 95,901 A1,541
03 Al SCHEI 9,200 6,999 2,201
O4CH BAHARBAAY 15y
9,200,000 14} 9,200 6,999 2,201
= 2,760 2,100 660
Al 6,440 4,899 1,541
Helst nSHA 2 (nSAY) 2,341,979 2,408,223 NB6,244
ANsEusSHH =29 1,997,043 2,059,043 262,000
307 21201 1,997,043 2,059,043 262,000
05 BIZtRE= 1,997,043 2,059,043 262,000
ORSHDHE FISAY]
1,997,043,00024% 14! 1,997,043 2,059,043 £62,000
OlRI0l DSt 29 185,179 189,423 A4, 244
307 10| 185,179 189,423 A4, 244
GEECEE 185,179 189,423 A4, 244
OOIZI0IRELI2H PIEARRY]
185, 179,000& 14! 185,179 189,423 A4,244
DENSI| HXIA(DEML) 1,458,390 1,400,427 57,963
NESIIEVIEES 676,234 618,271 57,963
I A&HIL L0 676,234 618,271 57,963
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=EF

ws
SEXQ WsSHH 2=
=S

Chol: WEAS)| HXAL (DEAY) CERE
SA - EM B (BH) - NBAY - BAS O &b o8 IE=L HDs2
01 Al&H] 672,000 614,400 57,600
OMEI SXBL 1,200, 00021 %5607H 4 672,000 614,400 57,600
03 Al&=CHYl 4,234 3,871 363
OulSI| A2+ 672,000,000& *0.63% 4,234 3,871 363
A AMAIH (DEAY) 805,040 503, 150 301,890
CHEX A2 805,040 503, 150 301,890
401 AlIEHILE0HH] 805,040 503, 150 301,890
01 Al 800,000 500,000 300,000
OLOIEX SXE4+ 2,000, 0002 +400kn 800,000 500,000 300,000
03 AIE20HY| 5,040 3,150 1,890
OLHEX X2 800,000,000 *0.63% 5,040 3,150 1,890
DEHH SHEAIS (DEAR) 1,054,539 91,588 132,951
gussz 47 U SN2+ 299, 139 206,620 72,519
401 AIEBIZ =0 299, 139 206,620 72,519
01 Al 297,000 225,000 72,000
OUYENT LOIHEA L ENT
9,000,000 #3374 2~ 297,000 225,000 72,000
03 AlE=20HH| 2,139 1,620 519
OusEsE LoEA @ ENE Hi)
297,000, 0002 0. 72% 2,139 1,620 519
HelolBEs3Y |2 483,456 423,024 60,432
401 AlIEHIZLS20HH] 483,456 423,024 60,432
01 Al&HI 480,000 420,000 60,000
OOlRIOIE BT SXEs
30,000, 0002130 A 390,000 330,000 60,000
03 Al&=CHYl 3,456 3,004 430
ORI 52 SXEA
480,000,000& *0.72% 3,456 3,024 432
SHFXE HE(NSAH) 196 5,000 N4,804
WELFEIAIEFA 196 5,000 AN4,804
208 Yo=Yl 196 5,000 A4,804
08 ANMER2EAY 196 5,000 ~4.804
ONE U ZHALYD 27 96,0002 196 5,000 A4,804
HYSAFH (NSHBHEH) 29,504 48,640 A 19,136
Ol AU (SAIY) 3,456 4,360 A904
=214| 626 3,000 N2,374
203 R =] 626 3,000 N2,374
04 EANSHLRE=XH 626 3,000 N2,374
OSMEY ez 626,0002! 626 3,000 £2,374
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M nsEEHH
K zH: &
=T I

=]
ol -
ctel ol

- HRA(ZAH) - MRAY - BES JNEH Hns2
=galsl 2,830 1,360 1,470
203 PR 2,830 1,360 1,470
02 FRIMHSFEHI 400 160 240
OFRINYREZIY 40,0002 +10% 400 160 240
04 EA2EYRFAHI 2,430 1,200 1,230
OFNSYL =Y
((100,000& *2& )+(250,000& x10& ) ) *90% 2,430 1,200 1,230
|22 (REA) 26,048 44,280 A18,232
B2 | 1,556 15,480 N13,924
201 Yur2 Y| 1,556 15,480 A13,904
01 AtR2eltl 1,556 15,480 N13,924
Oget==&H| 800,000 800 7,800 A7,000
O=gt] 516,000 516 6,240 A5, 724
O=AD Sxt= 240,000 240 1,440 21,200
o1t 2,880 18,720 A 15,840
202 01t 2,880 18,720 A 15,840
ERTT 2,880 18,720 A 15,840
OgRFaJI=0H] 2,880,000 2,880 18,720 A 15,840
22| 9,948 4,320 5,628
201 et 9,948 4,320 5,628
01 A2l 9,948 4,320 5,628
LV ELBIEE-T 9,048 4,320 5,628
=]
((50,0002 4% »22 )+(50,000& x 10«10 ) 4,860 2,400 2,460
)*90%
— 2|
(40,0002 »42 28 )+(40, 0002 10Z108)) 3,888 1,920 1,968
)90%
—=SADl gX= 120,000 »1CH+10 1,200 0 1,200
o4l 11,664 5,760 5,904
202 01t 11,664 5,760 5,904
01 =UhoiH| 11,664 5,760 5,904
OYLEZI| 20|
((120,0002 +4% <2 )+( 120, 00021 * 102+ 102 11,664 5,760 5,904
)*90%
PEE(DSTBUH) 7,614 0 7.614
SEXS(DSAL) 7,614 0 7.614
urE3 lE 7.614 0 7.614
802 BHEH20IEl 7.614 0 7.614
01 2NBEIH 2,139 0 2,139
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